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1. ZA and ZB are two complementary angles. If ZA is 20° more than

/B, then find the angles of /A and /B.

° Watch Video Solution

2. /P and ZQ are two supplementary angles. If ZP is three times of ZQ)

, then find the measurement of the angles P and Q.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iArh5iBKV7GY
https://dl.doubtnut.com/l/_oojbSAvjfjDC

3. In the given figure,l || m, a = 40°, then find all the other angles as

mentioned in the figure.

+m

i 3

° Watch Video Solution

4. In the given figure, C is a point on the line segment BD. Find the

measurements of ZACB and ZABC.


https://dl.doubtnut.com/l/_oojbSAvjfjDC
https://dl.doubtnut.com/l/_w8d3h4xxLq62
https://dl.doubtnut.com/l/_GlQumSzXeFQR
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o Watch Video Solution

5. In the given figure, PTQ, PMR, SMT and QRS are straight lines. Find the

angle of ZRMS.



https://dl.doubtnut.com/l/_GlQumSzXeFQR
https://dl.doubtnut.com/l/_9eWeTYXMevuf

[ W Watch Video Solution J

6. In the figure, ABD, BCD are two triangles. BD is the bisector of
/ABC and /ADC.AB || TD and 4D || BC. If /BCD = 50°,

then find the angle of ZBAD.

D C

A B

o Watch Video Solution

7. Find the circumference of the circle whose radius is 7 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_9eWeTYXMevuf
https://dl.doubtnut.com/l/_T4fb6QTreNHf
https://dl.doubtnut.com/l/_WwBaU58iq1yp

8. The circumference of a circle is 22 cm. Find the diameter of the circle.

o Watch Video Solution

9. Draw the lines of symmetry of a rhombus

o Watch Video Solution

10. Draw a line of symmetry of an isosceles right triangle.

o Watch Video Solution

11. Draw the lines of symmetry of a square

o Watch Video Solution



https://dl.doubtnut.com/l/_48yGWNWcooAM
https://dl.doubtnut.com/l/_704Fjt4Pbt1m
https://dl.doubtnut.com/l/_KTkt7jQPSXvR
https://dl.doubtnut.com/l/_ZAH6LTTKJTvo

12. Draw the line(s) of symmetr for the first four words of English

alphabet, if fxist.

o Watch Video Solution

Very Short Answer Type Questions

1. An angle which is 30° less than the right angle is

° Watch Video Solution

2. An angle which is 50° less than the straight angle is

° Watch Video Solution

3. Find the measure of an angle which is complement of itself.

° Watch Video Solution



https://dl.doubtnut.com/l/_4tJGMVKWBT0N
https://dl.doubtnut.com/l/_b40iT8jXaXHK
https://dl.doubtnut.com/l/_V6lCllRzjcSk
https://dl.doubtnut.com/l/_oJGVc8tLKavN

4. TRANSVERSALS A line intersecting two or more given lines in a plane at

different points is called a transversal to the given lines.

° Watch Video Solution

5.1f | is a transversal of p and q, a pair of corresponding angles is equal,

then the lines p and q are

° Watch Video Solution

6. Which of the following is a complementary angle to 36°?

A.36°

B.64°

C.72°

D.54°


https://dl.doubtnut.com/l/_oJGVc8tLKavN
https://dl.doubtnut.com/l/_5NccZHlmBXPn
https://dl.doubtnut.com/l/_AYjpuiOtgpa5
https://dl.doubtnut.com/l/_c38bp7mcP0Nx

Answer: D

° Watch Video Solution

7.Which of the following is a reflex angle ?

A.90°

B.120°

C.180°

D. 200°

Answer: D

° Watch Video Solution

8.The angle between the hours hand and the minutes hand of a clock at

6'0 clock is a/an



https://dl.doubtnut.com/l/_c38bp7mcP0Nx
https://dl.doubtnut.com/l/_pocHasc2FxmE
https://dl.doubtnut.com/l/_KMLjAN6nUxcX

A.right angle

B. acute angle

C.straight angle

D. obtuse angle

Answer: C

o Watch Video Solution

9. Which of the following pairs of angles are supplementary ?

A. (0, 180°)

B. (90°, 90°)

C. (120°, 60°)

D. All the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KMLjAN6nUxcX
https://dl.doubtnut.com/l/_uYOWtHOHfn7d

10. Two lines AB and CD intersects at 'P. The number of pairs of

adjacent angles formed is

A2
B.3
C.4

D.6

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uYOWtHOHfn7d
https://dl.doubtnut.com/l/_4gPxnaZHKMyz

11. Match the following Column A to Column B

Cotumn A

(a pair of

Celumn 8
{(Ratio of the
ongles)

(@)
(b)
(c)

(d)

anglos)
Vertically ()
opposite angles

120° and its ()
supplement
30° and its ()

complement

A strmght angle ()
and a reflex

angle which s

60° more than

the straight

angle

(p) 2:1
(@ 1:2

(r)y 3:4

o Watch Video Solution

12. If two of the angles of a triangle are 70° and 80°, then the third angle

of the triangle is

o Watch Video Solution



https://dl.doubtnut.com/l/_uv5lngW9DSFp
https://dl.doubtnut.com/l/_VsRRuTPdOC7W

13. If two sides of a triangles are 7 cm and 10 cm, then the largest possible

integer value of the third side is

° Watch Video Solution

14. Two sides of a triangle are equal. If one of its angles is 100°, then one

of the remaining angles is

° Watch Video Solution

15. In a right-angled isosceles triangle, the measures of the angles are

° Watch Video Solution

16. In a AABC, /B = 65° and ZC = 80°, then the longest side is



https://dl.doubtnut.com/l/_0dB2s7ZKWspU
https://dl.doubtnut.com/l/_dZ6KJwF3A7J1
https://dl.doubtnut.com/l/_04CQfJvfRoyL
https://dl.doubtnut.com/l/_mqyFXtegDciU

l & Watch Video Solution

17. Which of the following is true?
(A) A triangle can have utmost two right angles.
(B) A triangle can have two obtuse angles.
(C) Atriangle can have three acute angles.
A.A,BandC
B.OnlyB and C

C.Only B

D.Only C

Answer: D

° Watch Video Solution

18. Which of the following is false?

(A) The sum of any two sides of a triangle is equal to the third side.


https://dl.doubtnut.com/l/_mqyFXtegDciU
https://dl.doubtnut.com/l/_dwCqErYGpuzv
https://dl.doubtnut.com/l/_9dEEAY2kDAnh

(B) The sum of the exterior angles of a triangle is equal to 360°

A.Aand B

B.Only A

C.Only B

D. None of these

Answer: B

o Watch Video Solution

19. Which of the following is an acute triangle ?

A. Isosceles triangle

B. Equilateral triangle

C.Right triangle

D. None of the above

Answer: B


https://dl.doubtnut.com/l/_9dEEAY2kDAnh
https://dl.doubtnut.com/l/_OSL8oPpAq1P5

° Watch Video Solution

20. Which of the following is true?

(A) Triangle is a polygon.

(B) An isosceles triangle can be obtuse.

(C) All scalene triangles are acute.

A.Only A

B.OnlyB and C

C.OnlyAand B

D.A,Band C

Answer: C

o Watch Video Solution

21. Which of the following is the length of the sides of a triangle?


https://dl.doubtnut.com/l/_OSL8oPpAq1P5
https://dl.doubtnut.com/l/_XdCBfMhRmU8m
https://dl.doubtnut.com/l/_HTk7zhiFsnCn

A.3cm,7cm,10 cm

B.2cm,5cm, 7 cm

C.6cm,12cm,19 cm

D.7cm, 24 cm, 25 cm

Answer: D

° Watch Video Solution

(@) Right () (p) 60°,20°,100°
triangle

(b) Isosceles () (g 60° 60°, 60°
triangle

(c) Acute () () 60°,30°, 90°
triangle

(d) Scalene () (s 40°,40°, 100°
triangle

22.

o Watch Video Solution



https://dl.doubtnut.com/l/_HTk7zhiFsnCn
https://dl.doubtnut.com/l/_RnuSxMEVvr5t

23.
If 'C' is the centre of the circle and A is the point on the circle, then AC is

called  of thecircle.

o Watch Video Solution



https://dl.doubtnut.com/l/_RnuSxMEVvr5t
https://dl.doubtnut.com/l/_vJIgOl5qsOh0

24.
If A, B are the point on the circle. The line segment AB is called ___ of

the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_TWr5DbU7Q4dY

25.

P, Q are the points on the circle. The part of the circle, PQ is called

of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_3UrIQhXYKsvs

26.
The region bounded by the line segment AB and the part of the circle ATB

is called of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_yPC9A9NvPUxy

27.

The line RS which touches the circleat Tis called  to the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_CwQh9X5q1Qa5

28.

The line intersecting the circle at M and N is called of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_NrEioS9WL6tK

29.

DE is passing through the centre, DE is called of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_OC3HUBd5eFIO

30.

The arc DTE is called of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_OS3jxK0yUeKZ

31.
The region bounded by the line segment AB and the part of the circle ATB

is called of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_pB27gS85iUlF

32.

A sector of an angle 90° is called.

° Watch Video Solution

33. Which of the following is true ?

A. Diameter passes through the centre of the circle.

B. The longest chord is the diameter

C.The diameter is equal to 2 times the radius.

D. All the above


https://dl.doubtnut.com/l/_sMyW60rLV92u
https://dl.doubtnut.com/l/_S1E4HPTDitR5

Answer: D

° Watch Video Solution

34. Which of the following is an angle of the major sector?

A.60°

B.100°

C.200°

D.400°

Answer: C

° Watch Video Solution

35. Which of the following is false?

A. Radius is perpendicular to the tangent at the point of contact.


https://dl.doubtnut.com/l/_S1E4HPTDitR5
https://dl.doubtnut.com/l/_KJN9EpHVwIGA
https://dl.doubtnut.com/l/_qJph1XCocm0y

B. Major segment contains the centre of the circle

C.The line segment joining any two points on the circumference is

called arc.

D. None of the above

Answer: C

o Watch Video Solution

36. Which of the following is the angle of a quadrant?

A.60°

B.90°

C.180°

D. 360°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qJph1XCocm0y
https://dl.doubtnut.com/l/_vAUf7AixLMCs

37. Which of the following can be the angle subtended by a minor arc at

the centre?

A.100°

B. 220°

C.180°

D.270°

Answer: A

° Watch Video Solution

38. An isosceles triangle has line (s) of symmetry.

A0

B.1

C.2


https://dl.doubtnut.com/l/_vAUf7AixLMCs
https://dl.doubtnut.com/l/_qRGhdK3c8Yjr
https://dl.doubtnut.com/l/_FMugSfDupiNw

D.3

Answer: B

° Watch Video Solution

39. A semicircle has line (s) of symmetry.

A3

B.2

C.1

D.0

Answer: C

° Watch Video Solution

40. A quadrant of a circle has line of symmetry.


https://dl.doubtnut.com/l/_FMugSfDupiNw
https://dl.doubtnut.com/l/_kJTg9bTN0s8O
https://dl.doubtnut.com/l/_vzbyJ3iVz15u

A0

B.1

C.2

D.3

Answer: B

o Watch Video Solution

41.The letter | has lines of symmetry.

Al
B.2
Cc.3

D.0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vzbyJ3iVz15u
https://dl.doubtnut.com/l/_mQkdNqY6HAbF

42. A letter X has lines of symmetry.

Al

B.0

C.3

D.2

Answer: D

° Watch Video Solution

43. Which of the following can have infinite lines of symmetry?
(A) Ellipse
(B) Semicircle

(C) Line segment

AAB


https://dl.doubtnut.com/l/_mQkdNqY6HAbF
https://dl.doubtnut.com/l/_J32xUgiSFxOd
https://dl.doubtnut.com/l/_GNDtoBk4a3u5

B.A,C

C.B,C

D.C

Answer: D

° Watch Video Solution

44. Which of the following letter of English alphabet has only two lines of

symmetry?

AY

B.W

C.H

D.E

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GNDtoBk4a3u5
https://dl.doubtnut.com/l/_zR3Lmfwz0BXK

45. Which of the following has no line of symmetry?

AP

B.Q

C.R

D. All of these

Answer: D

o Watch Video Solution

46. Which of the following have exactly 3 lines of symmetry?

A M

B. Equilateral triangle

C.N

D. Line segment.


https://dl.doubtnut.com/l/_zR3Lmfwz0BXK
https://dl.doubtnut.com/l/_pdlxrKnfKUpU
https://dl.doubtnut.com/l/_YeOiwNf5DseU

Answer: B

° Watch Video Solution

47. Which of the following has no line of symmetry?

OIN—7

A

Answer: D

e


https://dl.doubtnut.com/l/_YeOiwNf5DseU
https://dl.doubtnut.com/l/_mTQjTCkJKbuX

| @& \Watch vVideo Solution ]

48. Match the following Column A to Column B

Column A - Column 8
(a)  Two lines of () (p) N
symmetry

(b) Three lines of () (9) (8

symmetry

(c) Four lines of () (r)
symumnetry

(d) No line of () (s) @
symmetry

° Watch Video Solution

Short Answer Type Questions

1. Two supplementary angles are in the ratio 3:7 Find the difference

between the angle.

o Watch Video Solution



https://dl.doubtnut.com/l/_mTQjTCkJKbuX
https://dl.doubtnut.com/l/_1mJfgwoEoWza
https://dl.doubtnut.com/l/_MG1UOxSorfzo

2.Find the supplement of 50°36°52" .

° Watch Video Solution

3.
In the figure, t intersects two parallel lines p and q. Find the angles of

4x — 15° and 32 — 15°.

° Watch Video Solution



https://dl.doubtnut.com/l/_MG1UOxSorfzo
https://dl.doubtnut.com/l/_TejFU511hThh
https://dl.doubtnut.com/l/_QtEyMs8bAdfm

4.
In the figure, I || m and r || t. They intersect at P, Q, R and S as

shown in the figure. Find the angles of Z/SP(Q and ZPSR.

o Watch Video Solution

5.1n a triangle ABC,if ZA = 70° and AB = AC, then find the measures

of /B and ZC.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ogbv6dqUVswd
https://dl.doubtnut.com/l/_aBPMNnbJwYlO

6. List out all the triangles formed in the figure.

D C

A B

° Watch Video Solution

7.1n the figure, DC' || AB.If ZACB = 40° and ZCAD = 30°, AC is

the bisector of ZDAB, then find the angle of ZADC.


https://dl.doubtnut.com/l/_CtjfUtrYB4Rz
https://dl.doubtnut.com/l/_UHqcdQiyhlpn

° Watch Video Solution

8.In the given figure, AB = BC, ZBAC = 70° and BC is produced to E, AC
= CD and LADE is the exterior angle of AADC. Find the angle of

LADE.

O
me

° Watch Video Solution



https://dl.doubtnut.com/l/_UHqcdQiyhlpn
https://dl.doubtnut.com/l/_e4bDKmscAyP1

9.1In the figure, PS and QT are two straight lines intersecting at the point
R.PR =RQ. If ZPRQ = 98° and /TSR = 40°, then find the angles of

/T and ZQ.

o Watch Video Solution

10. In the given figure, ZQPR = 50°, ZQRS = 135° and PQ = PR and ST

= SR. Find the angle of ZS.


https://dl.doubtnut.com/l/_k34CS1x3ZD1B
https://dl.doubtnut.com/l/_VVsjgUnYaiv2

o 135°
) 50 P
P r y
/
7/
S

o Watch Video Solution

11. The radius of a circle is 10.5 cm. Find its circumference.

o Watch Video Solution

12. The circumference of a circle is 132 cm. Find the length of its diameter.

o Watch Video Solution



https://dl.doubtnut.com/l/_VVsjgUnYaiv2
https://dl.doubtnut.com/l/_Z8kC6UiMelFF
https://dl.doubtnut.com/l/_nco9ngZk2Nws

13. Draw a chord of length 6 cm in a circle of radius 4 cm and shade the

major segment.

° Watch Video Solution

14. Make a sector of angle 90° in a circle of radius 3.5 cm.

° Watch Video Solution

15. The circumference of a circle is 220 cm. Find the perimeter of its

quadrant.

° Watch Video Solution

16. Draw the line of symmetry for the following.


https://dl.doubtnut.com/l/_nco9ngZk2Nws
https://dl.doubtnut.com/l/_77ZwPrRIfAw5
https://dl.doubtnut.com/l/_mGQrCc9GQrP5
https://dl.doubtnut.com/l/_O3c328UNZZeu
https://dl.doubtnut.com/l/_OykfjpCv02Ho

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_OykfjpCv02Ho

17. Construct an equilateral triangle of side 4 cm and draw all its lines of

symmetry.

o Watch Video Solution

18. Draw an acute angle POQ and draw its line symmetry.

o Watch Video Solution

19. Which of the following letter of English alphabet has only two lines of

symmetry?

o Watch Video Solution

Concept Application



https://dl.doubtnut.com/l/_03L1Fo1lzxIQ
https://dl.doubtnut.com/l/_ab1Y7TdHeWjs
https://dl.doubtnut.com/l/_9onJ6fhfEiPG

1. The two sides of an isosceles triangle are 6 cm and 12 cm. Find the

perimeter of the triangle (in cm).

A. 32

B.30

C. 24

D.18

Answer: B

o Watch Video Solution

2. Which of the following cannot be the measures of an isosceles triangle

ABC?

A.Angle Ais 50° and angle B is 80°

B.Angle Aiis 65° and angle B is 50°

C.Angle Ais 60° and angle B is 70°


https://dl.doubtnut.com/l/_L5yVTU7NqRZ1
https://dl.doubtnut.com/l/_d7F131sI6ZJn

D. All of these

Answer: C

° Watch Video Solution

3. The perimeter of the quadrant of a circle is 37.5 cm. Find area of the
circle (in cm2).

A.346.5

B.325.5

C.275.25

D.173.25

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_d7F131sI6ZJn
https://dl.doubtnut.com/l/_HjVnsjFVp6TC

4.The sides of a scalene triangle are integers in cm If the perimeter of the

triangle is 15 cm, then how many such triangles exist?

A. One

B. Two

C.Three

D. Infinitely many

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NSrDnbZP4s7Y

In the given figure, the radii of the circles are equal. The middle circle is
touching all the other circles and each of the other circles is touching
exactly three circles as shown in the figure. What is the total number of
lines of symmetry that can be drawn for the given figure?

A3

B.6

C.12

D. Infinitely many


https://dl.doubtnut.com/l/_j6I6uNTsjOgj

Answer: B

° Watch Video Solution

Assessment Test

1.In the figure, PA || QB.If AT and BS ubtersect at Cfind ZACS.

B

o Watch Video Solution



https://dl.doubtnut.com/l/_j6I6uNTsjOgj
https://dl.doubtnut.com/l/_ttrzdWOdqYyw
https://dl.doubtnut.com/l/_X0CA8ttK8sFT

2.In the given figure, ZA = 40°, /3 = 60° and PQ is parallel to AB.

Find the other angles mentioned in the figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_X0CA8ttK8sFT

3. List out all the triangles formed in the figure.

E

A /F/ \J D

° Watch Video Solution

4, In the figure, AB || CD and AD || BC. If

/ABC = 110°, ZACD = 30°,then find ZADC.


https://dl.doubtnut.com/l/_pDTyefSow4J5
https://dl.doubtnut.com/l/_Kenx1pBXjYQN

o Watch Video Solution

5. In the figure, AB = AC and BC is procured to D, if ZCDE = 20° and

/BAC = 80°, then find the angle of ZCED.

A

20°/~



https://dl.doubtnut.com/l/_Kenx1pBXjYQN
https://dl.doubtnut.com/l/_lhfNedvvSSxt

| @ Watch Video Solution

6. Find the perimeter of a semicircle of radius 7 cm.

° Watch Video Solution

7.Find the perimeter of the quadrant of a circle of radius 14 cm.

A.20cm

B. 500 cm

C.50cm

D.5cm

Answer: C

° Watch Video Solution

8. Find the diameter of a circle whose circumference is 39.6 cm.


https://dl.doubtnut.com/l/_lhfNedvvSSxt
https://dl.doubtnut.com/l/_4T2M6PX2OMqd
https://dl.doubtnut.com/l/_Mn18oMOFf1kE
https://dl.doubtnut.com/l/_diZdm89o6XPm

A.12 cm

B.12.6 cm

C.124 cm

D.12.8 cm

Answer: B

o Watch Video Solution

9. Two congruent intersecting circles.

o Watch Video Solution

10. A square inscribed in a circles.

o Watch Video Solution



https://dl.doubtnut.com/l/_diZdm89o6XPm
https://dl.doubtnut.com/l/_5toLSmxRllx6
https://dl.doubtnut.com/l/_iHuYUcSiWOWo

11. Complete the following figures to have the specified number line of

symmetry and draw their lines of symmetry.

@ (b)

&

(4 lines of symmetry) (1 line of symmetry)

o Watch Video Solution

12. Identify the shapes on the basis of description.
(i) Athree-sided polygon with all sides equal

(ii) The longest side of a right-angled triangle.

o Watch Video Solution

13. Identify the following pairs of angles as complimentary and

supplementary


https://dl.doubtnut.com/l/_CxcFU3pcZAfG
https://dl.doubtnut.com/l/_Ql9fhoOEbFTT
https://dl.doubtnut.com/l/_srrr6PRTyuB4

(i) 60° and 30° (41)45° and 135°

(iii) 60° and 10° (iv)80° and 10°

° Watch Video Solution

14. From the following figure, identify,
(i) Pairs of intersecting lines
(ii) Parallel lines

(iii) Concurrent lines

&
-

&
™
23]

m

o Watch Video Solution



https://dl.doubtnut.com/l/_srrr6PRTyuB4
https://dl.doubtnut.com/l/_EkBeg57NIn1c
https://dl.doubtnut.com/l/_YYaRY12QmODW

15. Identify the parallel and perpendicular lines :
(i) Railways tracks
(ii) Hands of a clock at 12:15 ItBrgt (iii) Upright pole to the ground

(iv) Two upright trees

o Watch Video Solution

Crossword



https://dl.doubtnut.com/l/_YYaRY12QmODW
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Across

1. Angle P is 30 degrees and angle Q is 60 degrees

2. The line intersecting two or more lines at different points is
6. Straight lines intersecting at right angles

8. Non-intersecting lines

10.The two interior non-adjacent angles which lie on either side of the tran:
11.The rays which form the angle are

° View Text Solution



https://dl.doubtnut.com/l/_SjIrQycbFzXY

